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Name:________________________  Period:___________ 

Activity Sheet T3–1h    Review 8
1. Order Least to Greatest: {–1.01, –1.101, –1.011, –1.001, –1.11}    2. Calculate the MAD:  {3, 7, 1, 8, 4, 8, 3, 16}
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 ______________________________   
         _________________________________
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3.   Set A {0, √8, 3π, 7.7, √9, ⅜, – 9}: ⊂B{Z} =_____________________4. √123   = ________
                                                                                                                                                   145⁰
                                                                                                                     x 

5.     – 7,261,000,000  = _____________
            6. Find x:                                                160⁰                                                                                                        
                                                            (in scientific notation)                                                                                  
7.    – (– x – 1) – (– x – 1) = (– x + 2) – (– 3x – 4)  x= __________       (For #  6.) x=________⁰
8.   Jose spent $182 on tickets and  x  on snacks. The first event cost  x  plus 2 dollars and the second event cost $9 less than 3 times first event. The third event cost 6 times the first event.    Find x.     x = ____________ 

                                 Perimeter = ___________    Perimeter    = 260 m                  Area = 13 m2                                  9.                            76 m                                                                    
      x                                                                                                                      
                                       Slope=_____________                                   (x, y) → (¼x, ¼y)                                  
                 20 m                                   (Bonus)                                            
                                                                            10. Area: = _______  11. Perimeter: = ________  
12.   2 – 4x   =     –21x + (– 2)   x = ________     How many times greater is the dilated area                                    

            7                     18                                     and volume of a shape using the scale factor of 2?                                                                                                                    
                                                                            13.   Area________  14.Volume _________
15. (x,y) → (–x,y) of point (–5, –9.): Location ___________   
What is the Slope and Equation of following sequence: {7, 10, 13, 16, 19,… }?
 16. Slope:  ________________         17.   Equation: ___________________
                                                                                           (slope intercept form)
For 18 &19: Find the  Slope and Equation:    x    (   y     18. Slope: _____________ 
of the line that created the Table                   – 3   ( 22
                            4                      5                    1   ( –2    19. Equation: _________________
20. Given:           6                      3                    2   (   -26                              (slope intercept form)
Function?            5                      6
                          10                      8                                   21.  Volume =______________
Yes / No             2                       8

                                                                                       18m

Find Volume; Lateral Surface Area and Total Surface area of :               10m                                               

                                                                                                         5 m
                                              22. Volume:  __________________


                                           23. Lateral Surface Area:____________                                            
                                                                                                          8m
                                        24.   Total Surface Area:_____________                                                  
